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STATISTICS
( Regular Elective)

Answer the Questions from any one Option.

OPTION-A
Paper : STA-RE-6016
( Econometrics))

OPTION-B
Paper : STA-RE-6026
( Demography and Vital Statistics)

OPTION-C
Paper : STA-RE-6036
( Design of Experiments)

OPTION-D
Paper : STA-RE-6046
( Actuarial Statistics)

Full Marks : 60

- Three hours
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he figures in the m
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OPTION-B
Paper : STA-RE-6026

( Demography and Vital Statistics )

Answer either in English or in Assamese.

Answer the following questions as directed :

[ SR wem erTRR Bew o

(@) The death rate obtained for a segment

(b)

1x7=7

of a population is known as
(1) crude death rate
(i) specific death rate

(iii) standardized death rate

(Choose the correct option)

<01 T wI%ee SR TOR 2 weTs v
(PICH! &0l 2B 91 3 2

() SHifES ToR 29

(i) T2 Jo= 29

(iii) TN YO VS (@5 Tewch f737)

Vital statistics rates are generally
expressed as

() per hundred of population

() per thousand of population
(Choose the correct option)
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i) oS X wPRae
(i) AfS TR TS
(% G Ao Gfggy,

(c) Define vital event.
& o e |

(d) NRR = 1.29, interpret.
<R w, NRR = 1.29

(e) State True or False :
i fiw & ¢ GRR > NRR

(f) is the pivotal column of the life
table.

GRR > NRR

@%ﬁﬂ@%@ﬁ?ﬁ}@@l

(g) e? is the of the life table.

X

e0 T G OIfeTai et it =8

Answer the following questions : 2x4=8

werd e(dRT Oed foTdll 3
(a) What do you understand by crude bi

s

rth

rate ?

W&r@mmqﬁmﬁ%qmé
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(b) In a life tat
a life table, what do you mear
s nean by

G2 G Siffisre L, 9fe 6 9ot
{c) Write ftwo uses of vital statistics.
(S ~AfPRRIIR 701 IR 7
(d) Define general fertility rate.
AR TTel g kel

3. Answer any three questions :
w1 [l fofabr ees Tl 9 ¢

(a) Wh.at do you mean by vital statistics ?
Write different uses of vital statistics.

tor AR i [ g2 T iR &

AR ol |
e on infant mortality rate.

(b) Write a not
(IMR)
GG RSGE PinRsaRasil

rtality rate of two places

ompared on the basis
Why standardised
dered to be better

(c) Explain why mo
should not be ¢
of crude death rate.
death rates arc consl

for the said comparison ?
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O AGR welel A0 SINif
2?; g[éf o) 72q Y g3 (TS ATy
@fe @ia qﬁﬁ fag ol A

ationary population,

fag yd
ERAR
EARL
stable and st

e e el |
fertility rate?

(d) Define

fFr oIS ERS TR
(e) What do you mean by
Explain :
(i) Crude birth rate
(ii) General fertility rate

(iii) Total fertility rate
BqolR g e & e
BRI ISR
() SeefEe T 2]
(i) e SRR TS
(i) g5 TIROR S
Answer the following questions :
oo eEPTE Ted Al ¢

(a) Give the concept of a life table. On whgt
assumptions it is constructed ? Explain

different columns of life table.
2+3+5=10

3=3
4. 10x% 0]
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Al Slferwia el faan | e 544 fofas sam
UGS B4l 27 7 Gl wifer w4 fafea wgems A
4l |

Or

Explain Gross Reproduction Rate and
Net Reproduction Rate. Show that

NRR < GRR- 6+4=10
ZE1 S A G B el <1l | 2ol ] A
NRR < GRR

(b) Define force of mortality and central
mortality rate. Show that with usual

notations— 4+6=10

YR I ST (% 3 O T FE 7 | e
TS BT (e @—

29,
i m,6 A =—————
() X Q_q

X

g 1
W) Ay +5: my

. Or
(i) Mention the uses of life table. 5
GRA OIfeTl IRQPTR S T4 |
Contd.
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RR from the ['lx]l(\\\~inQ

Calculate G
S

data.

(i)

Total fertility rate (?@i TITOR []) -
1070.75 o
No. of female live birth QIEG SRS
s’ W} = 100

Total no. of male live birth (@M

Sife T W) = 105

(c) With usual notation prove that

FHRHI TR fozes oaNd << &

Tx:ilx+le+t

(i) e
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3+3+4=10

(i)

(i)
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Or
Write short noteg or
S on
By (BIF1 oy
Dopendcncy ratio
S
frSaTeTel wrpors
Crude
by rate of natyrg] increas
) | 1Se
I s 2

De i
merits of crude death rate
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